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QUESTION 1

A one-to-many type of scan, in which an attacker uses a single host to scan a single port on multiple target hosts,
indicates which port scan type? 

A. port scan 

B. portsweep 

C. decoy port scan 

D. ACK scan 

Correct Answer: B 

 

QUESTION 2

When you are editing an intrusion policy, how do you know that you have changes? 

A. The Commit Changes button is enabled. 

B. A system message notifies you. 

C. You are prompted to save your changes on every screen refresh. 

D. A yellow, triangular icon displays next to the Policy Information option in the navigation panel. 

Correct Answer: D 

 

QUESTION 3

Stacking allows a primary device to utilize which resources of secondary devices? 

A. interfaces, CPUs, and memory 

B. CPUs and memory 

C. interfaces, CPUs, memory, and storage 

D. interfaces and storage 

Correct Answer: B 

 

QUESTION 4

Which event source can have a default workflow configured? 

A. user events 
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B. discovery events 

C. server events 

D. connection events 

Correct Answer: B 

 

QUESTION 5

Which option is derived from the discovery component of FireSIGHT technology? 

A. connection event table view 

B. network profile 

C. host profile 

D. authentication objects 

Correct Answer: C 
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